
Minusrechnen (bis 250 000)

Aufgabe 1

1. 201 441 - 55 736 =   

2. 208 121 - 38 412 =   

3. 133 249 - 121 107 =   

4. 226 950 - 155 211 =   

5. 233 017 - 67 819 =   

6. 199 729 - 36 422 =   

7. 37 034 - 27 106 =   

8. 153 581 - 101 657 =   

9. 115 715 - 103 038 =   

10. 197 664 - 28 516 =   

Aufgabe 2

1. 155 660 - 77 151 =   

2. 205 961 - 196 048 =   

3. 122 675 - 27 124 =   

4. 90 781 - 74 312 =   

5. 249 576 - 105 644 =   

6. 209 896 - 51 370 =   

7. 67 071 - 40 261 =   

8. 201 607 - 194 101 =   

9. 170 533 - 169 776 =   

10. 134 335 - 122 836 =   

Aufgabe 3

1. 228 208 - 199 900 =   

2. 216 435 - 170 504 =   

3. 201 904 - 35 925 =   

4. 158 781 - 130 963 =   

5. 200 109 - 168 628 =   

6. 220 633 - 148 460 =   

7. 52 917 - 31 139 =   

8. 213 253 - 112 557 =   

9. 208 953 - 41 696 =   

10. 213 225 - 124 800 =   

Aufgabe 4

1. 244 822 - 241 697 =   

2. 219 385 - 171 559 =   

3. 153 702 - 52 005 =   

4. 153 762 - 47 852 =   

5. 180 018 - 57 712 =   

6. 204 624 - 174 136 =   

7. 201 056 - 180 860 =   

8. 218 081 - 161 894 =   

9. 207 788 - 99 702 =   

10. 242 776 - 73 060 =   
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Minusrechnen (bis 250 000)
| ANTWORTEN

Aufgabe 1

1. 201 441 - 55 736 =  145 705

2. 208 121 - 38 412 =  169 709

3. 133 249 - 121 107 =  12 142

4. 226 950 - 155 211 =  71 739

5. 233 017 - 67 819 =  165 198

6. 199 729 - 36 422 =  163 307

7. 37 034 - 27 106 =  9 928

8. 153 581 - 101 657 =  51 924

9. 115 715 - 103 038 =  12 677

10. 197 664 - 28 516 =  169 148

Aufgabe 2

1. 155 660 - 77 151 =  78 509

2. 205 961 - 196 048 =  9 913

3. 122 675 - 27 124 =  95 551

4. 90 781 - 74 312 =  16 469

5. 249 576 - 105 644 =  143 932

6. 209 896 - 51 370 =  158 526

7. 67 071 - 40 261 =  26 810

8. 201 607 - 194 101 =  7 506

9. 170 533 - 169 776 =  757

10. 134 335 - 122 836 =  11 499

Aufgabe 3

1. 228 208 - 199 900 =  28 308

2. 216 435 - 170 504 =  45 931

3. 201 904 - 35 925 =  165 979

4. 158 781 - 130 963 =  27 818

5. 200 109 - 168 628 =  31 481

6. 220 633 - 148 460 =  72 173

7. 52 917 - 31 139 =  21 778

8. 213 253 - 112 557 =  100 696

9. 208 953 - 41 696 =  167 257

10. 213 225 - 124 800 =  88 425

Aufgabe 4

1. 244 822 - 241 697 =  3 125

2. 219 385 - 171 559 =  47 826

3. 153 702 - 52 005 =  101 697

4. 153 762 - 47 852 =  105 910

5. 180 018 - 57 712 =  122 306

6. 204 624 - 174 136 =  30 488

7. 201 056 - 180 860 =  20 196

8. 218 081 - 161 894 =  56 187

9. 207 788 - 99 702 =  108 086

10. 242 776 - 73 060 =  169 716

© MaxKlug.de Online üben  |  
Lehr- und Lernbücher  |  
Arbeitsblätter  |  
Lehr- und Lernmaterialien

Subtrahieren


 



